Xpo1 "7 '0I0 2,87 PWITPR .7"02

We derive it from p''2°" — 7P 2 PWTS 9397R 10D RPEL

OVERVIEW
The X7n3 states that mm9w by 'ow7p is derived from the w17 of p"27. Our
Moo explains why it cannot be derived from 1778 2w 179 NV,

nvoIn asks:
- zwm YV 199 NLVINWYN DIWTPA 2NN MNITYT 9D XD INNAN 9NN ON)

And if you will say; why do we not derive that ny»w is effective by

2w, from the wsmw of s'197X bull on 95 ar. Now nmooin explains how we can
derive mm*5w by °w7p from 1178 Hw 119 -
— 19 YN NIRLNN 99 NN VNI Cro xapo) 2ONITI DIV NIAY 99D TPIVINN

Since it was necessary for the 7710 to tell us that the 7197 nvnw was to be
done by the owner of the 75 (namely the 3"712) as it is written, ‘and he

(177%) shall slaughter the nXwn? 9 which is his’ -
—*obya 199¥a NY DIV INWAT Y9N

It can be inferred from this that by other 2>w7p there is no requirement

for the owners to slaughter them; they can be slaughtered through a m°%w; proving that
2WIP2 MY w.> Why therefore do we need »"2°1 if we can derive it from 777% S 175?!

N1B0IN answers:
— 1IN SY 1997 NIT RPNT IRV 13950 19NN YW 1991 13509017 DT 9199 W

And one can say; that which we can exclude on account of 3778 @ 2
(that 0>y are not required, and it can be executed through a m°%w), that is

only concerning a nXwm 127p; similar to 1978 %2 19D which was a nxvn 127p,
there we can derive that other nXvn nN137p do not require 2°7¥2 and they can be offered
through a MW -

— 9795 H¥2 19598 IMN 2915 INVNAT DIVN NAYY 13557

" The issue of mm>w by 2°w7p is (mainly) concerning the 7w which is 22 77w, The question is whether
the owner can appoint another 7% to do the nv nw for him. All other M2y of the 127p such as ap> 1 ,773p
or 71vpP must be done by a 172 as specified in the 77710 in numerous places.

* The 770 requires that the 3"72 bring a 5 for a NXvA on 3" as it is written (3,70 X7P>Y) that X 797K X2° DRI
nXvIY P2 12 792 WP, This 79 was brought from the money of the 13"715 as the P10 writes 12 WX NV 0.

3 %0 oo,

* If there were no mmow by ow7p and the owner of every 1279 had to vrw his 1279, why would the 770
specify by the "5 nXun 79 that 1778 must Y it! See (however), ‘Thinking it over’.

> We cannot argue to the contrary that we should derive from 1978 9w 119 that 2°5v2a 7vnw is required by
all m1a1p, for if that is the intent of the 770, then it should not have mentioned by 77aR 2w 175 that 2°%v21 is
required and we would know this on our own since at this point we do not know Mm?w by o°wp (R"wImn).
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And the reason for this is because concerning a nXwn 1277 the 770 [does
not] write(s) ¥MIR; meaning that he is [not] required to bring the NXvr even
against his will -

— AYYY AWIY NI PPT INTD I3 IMN 129991 11979 NIPX INT 113 795
And therefore, since if the one who is obligated to bring a nXuvm was
present before us, we would [not] offer the 1277 against his will, therefore

it is logical that he can make a m>w -
— PYYY MUY 990W 199995 711 NY 1N Y93 1925991 “NYT M129D INY YaN

However by other n129p, where we do (not) offer it 2'"v3 of the owner of

the 127, we would not have known that he can make a “moow -
$IN7 12 YWIN? 22971 NP9 NPT NY ON

if not for the fact that we derive it from p''2%-.

SUMMARY

We cannot derive mm2w by 2°w7p from 77X 5w 119 (which is a nxwomn), for we
would only know it by nXvn and not by other 11277 which are different from
nxwvn concerning whether it is brought 3"v2 or not.

THINKING IT OVER

moon asks that we can derive mmow by ow7p from the fact that it is
necessary for the 7710 to tell us that 777X is required to vAW his 79. However
it is possible that if the 7710 would not have written "3 vnwn, I would have
thought that any one may be vmw for there is no requirement that the 0°%v2
have to be vmw their 1277 (just as they are not required to be P the o7)!"°

% The X"w1im amends this to read 1MX 2203 &Y. See following footnotes #’s 7&8. Concerning a 721 7277 the
77N writes (3,8 X7P7) that 1NIR 2°9° "1 1127p 72w oX; however concerning the NXvR 1327 the 77N merely
writes (72,7 87”) that 11279 X°2m, but does not mention 1NIR.

" The X"w1mm amends this to read 1271 1R (see footnote # 8).

¥ The X"w1mn amends this to read "va 1°2pn7 (see footnote # 7)

? The difference between nxon and other NM127p (according to the X"wAn) is that by nXun since we cannot
force him to bring the nkvn, this indicates that he has the sole authority over the offering of this 127p,
therefore since he has complete authority, he can deignate a m°%w. However by other m137p where 7"°2 can
force him to bring the 7277 against his will, this indicates that he does not have control over the 127p
therefore he is not empowered to make a m>w.

0" See mwrwn " [However we can derive it from p"27 since the 770 writes "3 7P 92 MR onwy,
indicating that 77v°nw has to be done 0°2¥23, and nevertheless not all the 0°2¥2 are vmw their nos.]
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